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Exercise 6

1. Inthe "Parks and Smencer” sale, which of each pair of offers is better:-
(a) 25% off or a third off (b) 20% off or  of the original price

(c) "Buy one, get one free" or “three for the price of two".

2. Place in order, smallest fo largest:

(@) -g— 0.45, 70%, % (b) 021,

3 1
—, 17%, —
20 5

Exercise 1

1. Find :-
@ 2+ % & 5+ 3 © &+ 3§ @ 3+ 4
© -5 O®E-F @$-3F O i-4
2. Find -
@ 28+ % ) B2+ % () 31428 @ 62+1F
(@) 83-4% () 78-3L (9 8BL-1Z () 5%- 51
Find :-
s@ +3 @ -4 ©i-1 @ e+l
1 23 1

Exercise 1

1. Change each of the following fo a mixed number and simplify where possible :-

@ 2 ® L © £ @ 2
2 30 | 122 -
02 0% % oI
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2. Change each of the following mixed numbers To a top heavy fraction :-

(@ 3% ) 4f (9 73 @ 108
@ 7% B (f) 5L (@) iﬂﬁg" 0 15L

9 goldfish, 4 cafs, 3 dogs and a rabbitl
What is the ratio of - {a) mice togoldfish (b)) goldfish to cats

(c} dogs to cafs (d) robbits Te mice ?

2. Anorchard has 31 dpple Trees and 27 pear trees. What is the ratio of -
{0} opple trees to pear trees - {b) peartrees to apple trees

e
(¢} upple trees to total number of frees (d) pedr trees to total Aumber of trees ? %ﬁ;

3. In December 1999, Jah'aéry 2000.and February 2000, there were 7 rainy days sach nonh,
Write down the ratio of rainy days : dry days for each of these murths,
Exercise 2

1. Simplify each of the following rafios :-

(a) 4:6 (b} 5:20 {e) 16:2 (dy 3:12
(e) 10:50 f) 15:35 (g 60: 24 (hy 21: 358
(i} 300:9000 () 18:270 (ki 32:88 h 17:81

2. From the pleture, write in simplest form the ratio of «

(a) oranges fo pears
(b) bananas fo pears
{c} pears Yo bananas
{d} pears to oranges

{e) bananas to fruif.

3. Onatrip to D & M's there were § teachers and 120 pupils. Write insimplest form, the ratio of -
(a) teachers:pupils (b) pupils:teachers (c) teachersipeople (d) people:pupils,
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. Change the following to pounds sterling. (Give your answer fo the nearest penny).
(a) 1000 € by 72 € (¢) 128€ {dy 1880¢

. A coat costs $250 in New York. Cathy has £160. Dioes she have enough money ?

. I changed £200 into Swiss Francs and spent 136 Francs on holiday.
I came home and exchﬁnge.d the remaining amount infe dollars for my next trip to.Hong Kong.

How many dollars did T receive ?

Exercise 1

. Change the followi ng 12 hour clock times to 24 hour clock times :

(@) 218am &) 4-20am - {c} 6um
(&) 520pm (@) t45pm. () Tpm
@ 625am () 950 pm | (i) 115am
() 1035 am (9 tidnight () 1220 am
. Change the following 24 hour clock times to 12 hour.clock times -

(@) 0430 &) 1040 (¢} 0704
(d) 1450 ) w3 T () 2080
{g) 0150 W 2145 Gy 2205
(h 102 )y oo h 0555

. How long is it from i~

(@) 245 pim to 5-45:pm ) 4 amto 8:30 am
(©)  midnight fo 430 aim @ 755 pinto 945 pm
(&) 340amtob510am (f) 410amto 935 am?

. A show started a':i% 7-35 pm and went on till 10415 pis,
For how long had the show lasted P

. T boarded a train of 1155 am ond my journey lasted for 2 hours and 35 minutes.
At what Time did T redch my destination ?
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Exercise 2
1. How far, in miles, will you have covered i«
(@) running af 9 m%ih for 2hours?  {b) driving at 35 mph for3 hours ?
2. What distances are covered by the following -
{0} atruck, 'tmvaiiiﬁg for 30 minutes at @ speed of 60 mp.h. ?
() a sail onavacht for 1hours 30 minutes, al an average spge:é of 12 kmihr ?

3. What distances are covered by the following .
(a) acar, going at an average speed of 36 mph., for + of an %mﬁr >

(5) amarathon runner, runhing at a speed of 16 kim/hr for 1 hour 45 minutes ?

4. A ship left Plymouth at 0215 and arrived af 6%&&:&%3@1;:*9 in Fmﬁce ar 0745,
The ship sailed ai-an average speed of 30 km/hr.,

How long did the sail take and how many kilometres had the ship fravetia& ?
Exercise 3
1. Calculate the average speed for these journays -
(@) 24 miles travelled in 2 hours, &) 47 km “?mvgﬁéjééiﬁ & hours,
{¢) 280 miles travelled in 4 hours. (&) 1000 km travelled in 40 hours
{e) 35000 miles travelied in7 hours, (F) 180000 km travelled in 3 hours.
2. Find the average speed of
(o) abus ?mﬁaiﬁ?ig 20 wiles in 30 mirutes, {how far dogs it "_i;‘t*'.gve,ii_m 1 hour )
®) @ man walking 2 miles in £ hour ' 1
() «a camel crossing the 6 miles of dessert in  hour |
(d) atrain which travels 20 miles in & hour,
(e} a cye:iig-*? covers 30 kmin 1 hour 30 minutes, (14 hrs)

Exercise 4
1. Calculate the time taken for cach of *i’h&;sez Jéﬁ?ﬂ&’y’s =

(¢) sailing 20 ke at 10 km/he. (b  driving 400 miles at 50 mph.
{c) running 400 mat 8 m/sec. (dy  flying 700 ki at 200 kin/hr.
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2. How long, in hours and mitutes, did the following jourseys take i

(@) alorry, fravelling 45 km at an average speed of 30 km/he 2

() «acoach, travelling 150 miles af an average speed of 60 rmp.h. >

3. (a) Use this distance chart fo find how

b)

far it is from :-
i) Zarat to Fharr
(i) Khumley to Hartoom,

A Land-Rover averages 45 km/hr in the '

dessert, How long would it take 1o
drive from Zarat to Harfoom 2

Exercise B

Zarat :

120 Joumy
80 | BO |Hartoom
210 | 100 | 60 |Fharr

1. A motor-cyclist covered a distance of 35 tiles in half an %mur'
What was his average speed ?

2. A truck travelled 90 niles fr&* an average speed tzf 40 miles pef heur,
How long, in hours and minutes, did it ?&ké’; fo complete its jﬂij?‘i"i&}f ?

3. A small plane, flying at o steady speed of 240 km/hr; takes i% hotrs to fly
from Downlee Island to the mainfand, '

How far had it flown ?

Caleulate my average speed for the journey.

Exercise 6

This graph indicates u pilot's journey in

hig light plane from Leeth back To Tilee,

(@)
(b)
{c)

{d)
(e

How long did It take fo fly from
Leeth To Spoor 7 '

How long did he stap in Spoor ?

At whadt time did he set of f from
Spoor to head o Tiles ?

When did he arrive in Tilee ?
Caleulate the speed of the plane -
(i) fromLeeth o Spoor. |

(i1} on the runway af Spoor,

(i} from Spoor o Tilee,

Leeth

BoT

Spoor |-

- distence (mifes)

Tilee it
0900
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Exercise ¢

. Make aceurate drawings of the following triangles -

{a) (b

. Make an accurate drawing of AABC where AB= 1l cm, BC= 9 emand LABC= 73°

. Make accurate drawings of The Tollowing triangles i~
(a) TN (b)

st 0 c' " . | . ﬁ
. Make an accurate drowing of ADEF where DE = 10¢em, £DEF = 59%und LFDE = 40°,

(@) (b)

% __ _...‘ B b B i .
. Make an accurate drawing of AXYZ where XY = 10 an, XZ = Semand YZ = 6 em,

Exercise 1

. What type of angle is marked with % .

{a) _ (b
/\

{f)

; | {c) e [ﬂ}“ oy
;\\‘\ .,x”/.x.f >\ e {?/ \
) “wy

th)




2. Write what type of angle each of the following i3~
(a) 47° by 91° fey 176° {d) 180°
(e) 190° (fy 1° (g) 90° (h) 270°

3. Use 3 letters to name each of the angles marked with % |
(b) R @ X @

Exercise 2
1. Caleulate the size of the unknown angle in zach of the following i~

(@ ®) <

<l
(e} (

50°

2. Calculate the unknown angles :-

Exercise 3
1. Calculate the size of the angle marked * in each of these triangles i-

() ® (©) (d)




2. Make a neat rough sketch of each of the following diagrams.
Fill in the sizes of all the missing angles.

(a) (b) (d)

Exercise 4
1. Calculate the values of w, x, y and z in the following quadrilaterals -

(a) (&)

Exercise B
1. Sketch each of the following and fill in all the angles -
(a) (b) K (e H

4 P C:‘v/ &
c/ i - - B
1'1'5*?/ |
D

#
P 68° . ’

2. Sketch eachof the fellowing and fill in all the missing angles :-

{a) L () N - (g} \30° 1388
ﬁ ﬁ B ' "

N

S /é; / B \/
Exercise 6 \ / / N

1. Sketeh each of the following and fill in all the angles -
(b}




2. Sketch each of the following and Fill in all the missing angles :-
(@) A

b) ) )

Exercise 7

A 10 em B

1. {a) Make aneat sketch of the square shown.
(b) Fill in the sizes of every side and angle, i %

E Bem F

450 N\
B C

‘ & em

{b} Fill in the sizes of every side and dngle.

W

{a) Make aneat sketch of the rectangle shown,

w

In this diagram ZRSW = 37° and £VUW = 52°

thake a fairly large sketch of the figure
and fill in the gizes of all the angles,

~5z°

5 Che

Two congruent qmﬁtfé%ai‘émig are used
to create a shop gign,

Caleulate the size of angle JKL.
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Exercise 8
1. Sketch each of the following rhombii and fill In the sizes of all the missing angles :-

(a) (k)

2. Two identical rhombii are placed ag shown, 4,
Sketch the diagram and '
fill in the sizes of all
the missing angles,

Exercise 9
1. Sketch each of the follewing kites and fill in the sizes of the migsirg angles -

(a) {b)

2. {a} Calculate the value of x in this kite.

{b} Now sketch the kite and fill in the
sizes of all i3 angles

Exercise 10
Sketch each of the :féiiawiﬁg parallelograms and fill in the sizes of all angles and sides ;-

1. (a) - 0 em G (b)
TILE

& ch




2. Make « largish sketch of parallelogram WXYZ
and fill in the sizes of all 6f its angles,

Two Identical parallelograms are shawn.,
Line fAW ig an axis. of gymmetry.

Calctilate the size of reflex angle SWT

Exercise 1 L
1. Write down how maay lines of symmetry each of these shapes has,

() {b)




